N = 0l & At & Ml A

20169 & 20N FXE ELSH &AM
2N DEHHY
HM: WwsSHE A
Sl FEXAM BB U FHEN HY(ZXAET SHIH) (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
nsHF 5,560,472 6,966,209 N 1,405,737
nEsdE M 2,196,179 1,066,553 1,129,626
FIAE B35 L FXUHEMN S (=XHE SEIH) 2,176,789 1,066,553 1,110,236
FHNEEF=IE S0 L 22 401,359 402,263 N 904
101 @121l 18,693 18,446 247
04 JI2ZtH 22 XNEE 18,693 18,446 247
O =& 298X 18,693
-2 64,1503 *1H %210 13,472
- Sa5LsY 64, 1503 1 x55 3,529
- DAL BEREEZ 17,001, 000& *3.035% 516
- DA EEEEZ 17,001, 000& %4 .5% 766
- EgEedg=2 17,001,000& *1.5% 256
- SN EEEYZ 17,001, 000& *0.704% 120
- LOFIRAEHEEZ 516,000& *6.55% 34
201 Bt A | 20,192 20,546 N 354
01 AP 22l Yl 19,352 19,706 N 354
O dg=xA 4603 4000 x12& 2,208
O DX A 75,7003 *358 A 2,650
O ZOE(HAAAEIN) 28,000& *60& 1,680
O Al2tHI =& 5,000& *800& 4,000
O FAHAXNESF=IHE L &t 200,000& =104 2,000
O FAHAXNEES=X 22l 2R=
50,000& *30H 1,500
O diold Zely &Y 270,000& =54 1,350
O FX2S AEBIHE Z2H =22
10,000, 000& *3%*12& 3,600
O FAXNEEF=INR2 NS0l 2SZ2HE 0
== 22,000 x12& 264
O XsSOIHAAEAN MY 5,000& x20A 100
02 3524t 840 840 0
O FAXNEEF=IE R &2
70,000& x12& 840
203 2R EFH| 850 850 0
03 Al =X R =XH| 850 850 0
O FXE &5g88 & =& 1,000,000& *85% 850
303 &3 300 300 0
01 ZAZ 300 300 0
O FXUHHEEH 78 23 A4 100,000& *3H 300
307 ©12+0I & 331,092 332,621 ~1,529
05 A2t EZ 331,092 332,621 AN 1,529




BN DEHH
MM NESHH WA
Sl FEXAM BB U FHEN HY(ZXAET SHIH) (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O =0Nd8 =18 QAsle 2xa
62,184,000 %0.5 331,092
308 XX G SO|IA 4,232 4,000 232
07 XSRS 4,232 4,000 232
O ZEEFINEBANAY ESSANESEZ2
4,232,000 4,232
401 AlEHIZL 201 Y| 26,000 25,500 500
01 Al&H| 26,000 25,500 500
O FHANEE(BY) TUE B4 & 22
300,000 *400H 2~ 12,000
O FTAHXNEES(Z2Y) =& A7 S0 &XH
2,000,000 *7H & 14,000
Dl F=XAIE =& 3,990 3,990 0
201 et 3,990 3,990 0
01 AFR 2t 2| bl 1,350 1,350 0
O dolMd T2y EY 270,000 x53| 1,350
02 Z2=2=24%4| 2,640 2,640 0
O D FEIAIL(B2EL) CCTV Y Al22
100,000 20 x12& 2,400
O D FEXAMA(S2SEL) CCTV I3
10,000 «2[H x12& 240
CoFEXE HE 1,020,000 0 1,020,000
401 AlEHI 2L 2 0HY| 1,020,000 0 1,020,000
01 Al&H| 1,020,000 0 1,020,000
O B2YF=Xa A4 1,000,000,000& 1,000,000
O EX 23 BIFIE HE TAIHEZE
L AANEH 24 20,000,000 20,000
SELAEXE 22 18,561 18,506 55
101 2121 H] 18,521 18,446 75
04 JI2ZtHIZ22NEE S 18,521 18,446 75
O BEF=XE HEHHR S5 BX 18,521
- ol 63,3303 x1H 210 13,300
- 8252+ 64,150& 12 55 3,529
- Z2oAUBEEE =2 17,001, 000& *3.035% 516
- 20HAZBELELE S 17,001,000 *4 .5% 766
- NE28g8edz 17,001,000 *1.5% 256
- MHEEEEZ2 17,001,000 «0.704% 120
- LA YBEEEEZz 516,000 *6.55% 34
201 et d| 40 60 A 20
01 AFR 22| H| 40 60 A 20
O Bs4 242 2 oM =2 2,000 x20H 40




SN DEHEDY
M DsHE A
Gel: =XAE 25 L FUHEAN S (=UHE SEIA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SYHFIXN NE &= 319,485 292,812 26,673
101 @14 Hl 149,515 129,102 20,413
04 JIZHHZ2XNEE S 149,515 129,102 20,413
O =83 UBHRS EX 149,515
- gy 64,1503 x8H 210 107,772
- RE5dsE 64,1503 x8H x552 28,226
- [VUALEHREZ 135,998,000 +3.035% 4,128
- ZUHAIEERES 135,998,000& *4.5% 6,120
- 1EEERY3 135,998,000 *1.5% 2,040
- MTHEERE = 135,998, 000& *0.704% 958
- coEdleYRERYS
4,128,000& *6.55% 271
201 LB-2%| 168,970 162,710 6,260
01 At 22l 70,660 73,910 A 3,250
O =3Xtx AEA 130& *6,00000 x12& 9,360
O F=XUHEAN HE E2=  1258+10,00000 *12] 1,250
O F3Xtxs g8 Y 100,000& *500H 5,000
O FEXRAL AMSXAH L AT AN
110,000 70 A 7,700
O BHHESEUIMAEEXAM a8 2 EY
200,000 x4Z 63 4,800
O HEHSRUMESIA 258 =
200,000& x4 Z 33| 2,400
O FEXISSAE oetE el EY
200,000& x4Z 62 4,800
O ZglH =™ 200,000& »23] 400
O FFXEs FNF(MI) 10,0008 «208F A 200
O Z&s A& 3,000 =504 150
O FXeEE S22t 1,500 *60H 90
O =8 FES 20,000 =154 300
O ZIANSERAIAH S) 22=(25=,
at=,85) 200,000& *x14H x33] 8,400
O =EFXNEQR(AZHH S) st
50,000& *14H »23] 1,400
O ZHRLERAAAN S) go=
100,000& =14 1,400
O =EXUNHEQR(AZH 8) 29
50,000 14X 700
O XN (A2Z2H S) 2X (&I, S
&1) 20,0003 x14Y %23 560
O d#MXEs HE 2E= 100,000& 30 3,000
O Otd, of2t =& X HE8s E2 S4Hl
7,0003 x5 250 8,750
O F=ZXEs ADEE =2l
100,000 »3CH 23] 600




SN DEHEDY
M DsHE A
Pl RXAL BB U EMNEAM LY(EXNE SEEI) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O & 222 30008 2249
50,0003 x 18 «110 5,500
O AeXE dxz 1,800,000& 1,800
O AZHAMXA TGE S2 244
7,000 *30H 102! 2,100
02 2324l 98,310 88,800 9,510
O foa=3tHet(Xs) AEHUMERS
100, 000& = 17CH*12& 20,400
O CCTvaatal QA AIER
60,000 20 122 1,440
O =84 CCTV 28 SeAE=
50,000 =30 122 1,800
O MEZEMHIA B3E523
180& *2,00024 128 4,320
O UHURIA(DHIP) HERS
110,000& = 12& 1,320
O SH8HFEX GBS ANEE MERS
100,000 »3CH x12& 3,600
O RolcEJter MRS
45,000 x17CH =123 9,180
O Rolct=dtdet Ul |AH(REE, =
AT LA AR LB 1,650,000& »21CH 34,650
O 24 =XURALXNY SR 282
270& x80,000H 21,600
203 YR =2l 1,000 1,000 0
03 AIMFAH S =AY 1,000 1,000 0
O WsXEHgs d2F0 1,000,000 1,000
FEX S DEE 20 = 234,561 234,336 225
101 @124l 37,380 36,888 492
04 DIt 22 HEE =+ 37,380 36,888 492
O =3 Rt E MEdHe s X 37,380
-2 64,1503 x2H 210 26,943
- RERdsE 64,1503 x2H «552 7,057
- ZVUAHLBERLE S 34,000,000 x3.035% 1,032
- ZUHAIEERES 34,000,000& *4.5% 1,530
- 1EE2ERE3 34,000,000& *1.5% 510
- MTHEERE S 34,000,000& *0.704% 240
- LUFIQYBHEEYD
1,032,000& 6. 55% 68
201 Let24d] 188,668 188,668 0
01 At 22l 48,868 48,868 0
O dolNd=Eed EU 319,000& x53| 1,595
O MHHE XA 57,200& 5002 A 28,600
O XA &=l 173 «736,6000H 12,523




2A NS
M DsHE A
Sl FEXAM BB U FHEN HY(ZXAET SHIH) (ol @)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O stz & diM==2 1,000& x 15024 150
O XM ESE 60& 100, 0000H 6,000
02 =224l 139,800 139,800 0
O 8l AXNM 8% 1,960& *30,000H 58,800
O Mgz AN 8= 270& *300,000A 81,000
303 Z& = 7,513 8,780 21,267
01 243 7,513 8,780 A1,267
O FEXAAL DEHE MEH 2 ZHF 7,513
- EE 18N MY A ZAS
41,731,000& x1% 418
- EE 28X MEN A= Zas
62,597,000 *3% 1,878
- UEE 3EX MEW A ZHF
104,328, 000& *5% 5,217
405 RHoHE S HI 1,000 0 1,000
01 AL EZFH S 1,000 0 1,000
O dolMZeH 1,000,000 1,000
AASx2E BHE MEXE HSE A S 25,833 19,646 6,187
101 1Al 18,693 18,446 247
04 JI2ZtHZ22HEE = 18,693 18,446 247
O NHSAZEMNEHES MY Hs8 SAEX 18,693
-2y 64,1503 x1H 210 13,472
- REFdsE 64, 1503 »1H »552 3,529
- [UALEHRE S 17,001,000& *3.035% 516
- ZUHSEERES 17,001,000 *4.5% 766
- 1EEERE= 17,001,000& *1.5% 256
- MHEEREYEZ 17,001,000& *0.704% 120
- LOoEIIRYEERES 516,000 *6.55% 34
201 ¢er24| 7,140 1,200 5,940
01 At 22l 1,740 600 1,140
O E72 HEE 94X L2442
4,800,000& *30% 1,440
O¥sH g3 222 2 X3
300, 0002 *10H 300
02 =224l 5,400 600 4,800
O SdAAE SRXE 93,000 x8& 744
O BSEIAXANLAE KRXE=H
338,000& x12& 4,056
O ADEE EXANAH SH 23
50,0003 x1CH*12& 600
FEX2HE ANEE X & B 150,000 92,000 58,000
401 Al HIZ 201 8] 150,000 92,000 58,000
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SN DEHEDY
M HY2IZH(nsdF )
el E2HH (=T SE3IAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O =8x0s a8agea (NIESA Sk
=2& 0t32) 204,398
-gsaE 1,754,0002 x6H x12& 126,288
- E==E 5,760
i < Xt 40,0003 x6H x 128 2,880
A EHI= 20,0003 x12H «128 2,880
- A&l 443,300 x6H x4 3] 10,640
- NG AH| 130,000& 6 122 9,360
- A EXH 105,000& *87 .5%*6H » 12& 6,615
- AN 150,000& %87 .5%+6H 122 9,450
- AOE 4|
1,754,000 *84%*86%+1/30%87 . 5%*B Al 2+ x6H 1,331
- A2telg 4,580 6«50 Al 2t 123 16,488
- IUHAIREES 185,799,000& *4.5% 8,361
- N82E&a 185,799,000& *1.5% 2,787
-MHEE R 185,799,000& *0.704% 1,309
- ZVUAHLEBERE S  185,799,000& x3.035% 5,639
- LI RYEERES
5,639,000 x6.55% 370
03 RIAHAZZ2TE = 92,513 88,079 4,434
O =X 92,513
-3=2 1,665,420 x2H x12& 39,971
-dlad= 331,000& x2H 128 7,944
- E==E 1,440
HH < Xt 40,000 »2H » 128 960
A EHIS 20,0003 x2H 128 480
- gAY 60,0003 x2H 128 1,440
- el g s 50,0003 x2H 128 1,200
- Jlg==g 862,710 x2H x4 & 6,902
- @EF Ot 1,085,240 2% »2& 4,141
- ¢JtE &I 82,000%2H 20 3,280
- N228 Y 15,3503 «2H «25A 2t+ 128 9,210
- RU2RE 122,830& x2F «2L 128 5,896
- HHEXZM=Us XFAH 20,000 «2H 40
- MSM&H 1,341,680& »2H 2,684
- B8=S 8,365
I0UALEERE S
84,147 ,000& *3.035% 2,554
Z0ASEFERFE S 84,147,000& *4.5% 3,787
NEEEREs 84,147 ,000& x1.5% 1,263
MTHEERES 84,147,000 *0.704% 593
LI QABERY S
2,554 ,000& *6.55% 168




SN DEHEDY

M HE2GFH (S )

Eel J23H(=XE SE3) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Jleddl(=xd SgslH) 40,200 37,584 2,616

Jl2dtl(=xE SE3H) 40,200 37,584 2,616
201 Let24d] 9,000 8,784 216
01 At 22/l 9,000 8,784 216
O BA2EIIE+8H| 40,0003 x10¥ =128 4,800
O 2A2Y Jl=2d A
7,0003 «10E «54 x 128 4,200
202 o4dl 31,200 28,800 2,400
01 = LH 4 Hi 31,200 28,800 2,400
OJI=2g! =d s
20,0003 *10H 133 x12& 31,200
HWees(nsSa#H &) 518,167 643,965 A 125,798
HEHHXES(=XE SEH3IA) 518,167 643,965 A 125,798
HWEHAXNE(=UHESESIA) 518,167 643,965 A 125,798
701 JIEt3I HSEEES 518,167 643,965 A 125,798
01 JIEtel AN ES 518,167 643,965 A 125,798
O F=XEEL3H 1Hdl 8= 518,166, 1502 518,167
OlHIBl (=XEESESIA) 2,509,015 4,941,932 A2,432,917
dlelbl (=xt& Sgs H) 2,509,015 4,941,932 A2,432,917
OlglBl (=X ESESIA) 2,509,015 4,941,932 A2,432,917
801 GilHI bl 2,509,015 4,941,932 A2,432,917
01 BHoil bl bl 2,509,015 4,941,932 A2,432,917

O oldldl 2,509,015,000& 2,509,015




